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General Instructions :

Read the following instructions very carefully and strictly follow them :
) This question paper comprises four sections — A, B, C and D.
This question paper carries 40 questions. All questions are compulsory.

(i1) Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

(iiz1) Section B — Question no. 21 to 26 comprises of 6 questions of two
marks each.

(iv)  Section C — Question no. 27 to 34 comprises of 8 questions of three
marks each.

v) Section D — Question no. 35 to 40 comprises of 6 questions of four
marks each.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of one mark, 2 questions of two
marks, 3 questions of three marks and 3 questions of four marks. You
have to attempt only one of the choices in such questions.

(vii) In addition to this, separate instructions are given with each section
and question, wherever necessary.

(viit) Use of calculators is not permitted.

Section — A

Question numbers 1 to 10 are multiple choice questions of 1 mark each.
Select the correct choice.

1. The simplest form of % is
17 25 13 15
@ 55 b) 55 © 715 @ 15 1
2.  One card i1s drawn at random from a well — shuffled deck of 52 cards.
What is the probability of getting a Jack ?
3 1 1 3
(@) 95 b) 55 © 713 @ 53 1
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3. Aeuhfgadegmg (k—1) a2 +ke+ 1 HITHIIIB -4 AL BIAAE -

@ O © -3 @ 3 1

4. Afq feigaal A(=3, b) @1 B(1, b + 4) ! THAM aTe1 WawEs 1 qeafeg P(-1, 1) &, dl b
AR E

(@) 1 (b) -1 @ 2 (CVRY 1

5. T o9 o 9T G o1 9id <IHed o 9 T oFed fohdl ST Hehdl & 7

124 131 2027 1625
@ 765 ® 30 © %5 @ 52 1

6. T sea m fmmhifsu

Eoi 0-5 | 5-10 | 10-15 | 15-20 | 20-25

FRERAT 10 | 15 12 20 9

HIET o1 AT Igeieh ol ohl 111 HIHIST o1 AMTHA & :

(a) 15 (b) 25 (0 30 (d) 35 1

7. 98 << W o< T, e 245 99T 1029 HI 9T S W HSI 5 ITEE 2 |
(a) 15 (b) 16 (© 9 @ 5 1

8. g PA @Y1 PB, shg O Tl o1 <l &1 UHT ©1%1 W@l & fh LAPB = 70° 8, 91 LAOB
U 2

(a) 140° (b) 110° © 35° d) 70° 1

9. AfG o TUT B, §EIE 3a2 + 4x — 3 % JTh &, Al aff HIAH &

Qo[ H~

4
(@ 1 (b) (© —3 @ -1 1
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3. If one zero of the quadratic polynomial, (k — 1) 2 + kx + 1 is —4 then the
value of k is

5 5 4 4
(@ -7 b) 3 © -3 @ 3 1
4. If P(-1, 1) is the midpoint of the line segment joining A(-3, b) and
B(1,b +4), then b is equal to

(@ 1 (b) -1 @ 2 (CVRY 1

5. Which of the following rational numbers is expressible as a terminating

decimal ?
124 131 2027 1625
@ 765 ®) 30 © 525 @ 62 1
6. Consider the following distribution :
Class 0-5 | 5-10 | 10-15 | 15-20 | 20-25
Frequency | 10 15 12 20 9
The sum of lower limits of the median class and the modal class is
(a) 15 (b) 25 (¢ 30 (d) 35 1
7. What is the largest number that divides 245 and 1029, leaving remainder
5 in each ?
(a) 15 (b) 16 (© 9 d 5 1
8. IfPA and PB are tangents to a circle with centre O such that ZAPB =70°,
then ZAOB is
(a) 140° (b) 110° () 3b° d) 70° 1
9. Ifaand B are the zeroes of the polynomial 3x* + 4x — 3, then value of of is
4 4
@ 1 ® 3 © -3 @ -1 1
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10. ﬁg(acosﬁ,asm@)ﬁﬂﬁﬁgﬁaﬁwﬁﬂ%
(a) a b) a* (© ta d 1 1

T HE& 11 9 15 ¥ Tk wm vl

11. (tan 27°—cot 63°) HTHAH 2 | 1

12. 9fg § 99&T FeIsii <l rd goisti § 2 : 3 o1 3T &, Al Seh THATI b1 STIATd

a1 1
13. k1 98 9 fomes fag wfietor fem « + 2y = 3 @41 5x + ky = 7 ST 51 &4 181 ©,
i 1
14. (a, -b) @1 (a, b) h A= HI gl 2 | 1
15. (sec? 20° — cot? 70°) HITAF B 1
T3 TE&AT 16-20 7= 9941 6 3T e

16. 14 &ft Br=an a1t 99 % U Fsu@e &1 uiwm 68 9t 2 | 39 Frsus &1 &F%d 9

i | 1
A
Teh I o1 TRIYT 39.6 T & | TR &R H1A HINT | 1
25
17. zrfi'secez7 8, Tl cot 0 T T ITd HifTT | 1
DG |
3sin 0+ 2 cos O
zrfi'Stane—4%,a‘f(35m9_2cosej 1 | 1T ShifsTT | 1
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10. Distance of the point (a cos 6, a sin 0) from origin is :

(@) a b) a? (© *a @ 1 1

In Question numbers 11 to 15, fill in the blanks :

11. The value of (tan 27° — cot 63°) is . 1

12. If ratio of the corresponding sides of two similar triangles is 2:3, then ratio
of their perimeters is ) 1

13. The value of k for which system of equations x + 2y = 3 and bx + ky = 7

has no solution is ) 1
14. Distance between (a, —b) and (a, b) is . 1
15. The value of (sec? 20° — cot? 70°) is 1

Answer the following questions, Question numbers 16 to 20.

16. The perimeter of a sector of a circle of radius 14 em is 68 em. Find the

area of the sector. 1
OR
The circumference of a circle is 39.6 em. Find its area. 1
25 i
17. IfsecO= s then find the value of cot 0. 1
OR

35in9+20059)

If 3 tan 6 = 4, then find the value of [ 3 sin 0 — 2 cos 0

430/3/3.| 7 P.T.O.
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18. A3y — 1, 3y + 5 a1 5y + 1 Uk GG 51 o 1 Ue &, d y 1 TH S7d 1T | 1

19. ARG 1H DE || BC, AD =3 9.#l. au1 BD = 2 9.4 8, @I

a@%l

20. T U1 H 4 AT, 5 T 791 6 F7iq & | Il H ¥ ATGe a1 Ueh g (ehiell T3 | ekl
T i fop fepTeft 58 Tie omer w1 1 78 | 1

wWE-d

T HEAT 21 H 26 T Tish U b 2 37 & |

21. ﬁ:l@ﬁﬁm::‘\lsecz@+cose(329=tan9+cot9 2
JYUE
0
ﬁ!@#%rq 51(13108 0 = (cosec O + cot 0) 2

22. THh I U 5 AIA, 8§ Hhe a1 7 HIcl ¢ & | dol H H Toh ¢ Ao [+ahlell 5 |
1Rt siTd shifee fop FepTeft g Tie
(i) T AAMTRSTHIZ |
(i) HHGIEE 2 | 2

23. p o o AM A HIT e fere fgama THiehon «2 — 2px + 1 = 0 % I3 araideh g
TR 9
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18. If 3y — 1, 3y + 5 and By + 1 are three consecutive terms of an A.P., then
find the value of y. 1

19. In Fig. 1, DE || BC,AD =3 ecm and BD =2 ¢m ;

Fig. 1

20. A bag contains 4 red, 5 white and 6 green balls. A ball is drawn at random
from the bag. Find the probability of getting not a red ball. 1

Section - B

Question numbers 21 to 26 carry 2 marks each.

21. Prove that : \/seczﬂ + cosec?0 = tan 0 + cot 0 2
OR
Prove that : —oo— = 0 + cot. 0 2
rove that : 77— "= (cosec cot 0)

22. A bag contains 5 red, 8 white and 7 black balls. A ball is drawn at random
from the bag. Find the probability that the drawn ball is

(1) red or white
(1) not a white ball 2

23. Find the values of p for which the quadratic equation x? — 2px + 1 = 0 has
no real roots. 2

430/3/3.| 9 P.T.O.
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24. T TH T IDT MU | 1 I1E1 R 137 — F=7 Tamd 31 <67 aiferenan 3md shifsig | 2
O

2 I Teh 1Y 3BT MY | SH1 I8l T 3 aTed] T3] 1 I 9 o 3Afees 8 i
TTFFehdT STd ST | 2

25. 85 HINIY Toh Teh I b Topel same o Tl o’ S 773 Tl e uiat &Il & | 2

26. FHid-2 § OACB g O at od TSeehl Bean 7 @t 2, &1 U =quis 2 |
Ifg OD = 4 Tl & q1 BRATehd &3 T &hel WA HIT | 2

B

C

D

AT 2
wg -1
99 HEAT 27 9 34 O Tcdsh Yk 3 37 & |

27. I 37hi i Ueh TEAT b 3h! I AN 10 B | Ifc T=IT H T 18 =T fean S a1 bl
T Ueie S1d 8 | AT ST shifog | 3

28. AfG 1 aUT -2, 9§96 (x3 — 442 — T + 10) o e &, AT ST A0 I FA hiaC | 3

29. 3 Tl 331 o1 U g WitaT | < o shg | 7 S o1 gl o Terd e foig W ga Wa T
[T bl AT I | 3

Frere
8 Tl TS o1 Ueh TETEUE WIT aUT$H 3 : 4 % 319Td § fawfora shiferg | 3
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24. Two dice are thrown at the same time. Find the probability of getting

different numbers on the two dice. 2
OR

Two dice are thrown at the same time. Find the probability that the sum

of the two numbers appearing on the top of the dice is more than 9. 2

25. Prove that the tangents drawn at the ends of a diameter of a circle are
parallel. 2

26. In Fig. 2, OACB is a quadrant of a circle with Centre O and radius 7 em. If

OD =4 cem, find the area of the shaded region. 2
B
C

D

-
A 0

Fig. 2
Section - C

Question numbers 27 to 34 carry 3 marks each.

27. A number consists of two digits whose sum is 10. If 18 is subtracted from
the number, its digit are reversed. Find the number. 3

28. If 1 and —2 are the zeroes of the polynomial (x® — 4x2 — 7x + 10), find its
third zero. 3

29. Draw a circle of radius 3 em. From a point 7 em away from its centre,

construct a pair of tangents to the circle. 3
OR
Draw a line segment of 8 em and divide it in the ratio 3 : 4. 3

430/3/3.| 11 P.T.O.
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30. 3Th(d 3 H ferelt erm § T SWhi (desks) 31 STawT G 715 & | SAHI, WA a1
AT s Teigati A, B @91 C ST 2 | T Wi o e i
(i) 3ma shifere fop o ol i T @ H 91 7 |
(i) d¢ A, Bae CH@ g d 71 HifSe fop fog B, T@rave AC 1 9 Aqu@ §

IEEIEGEICIES 3
10 T . _
9 ;
8 |- —
o <
£ s :
4
AEEEEECS
2T T
NERD R |
1 234567 8 910
Wy
HTFA-3
cos 0 sin 0 )
31. fﬂ@ﬁﬁlﬁ:(l_tane)+(1_cote)=(cose+sm9) 3
e
Tag T : (sin 0 + cosec 0)2 + (cos 0 + sec 0)2 = 7 + tan20 + cot20. 3
32. Aefem2fr/2 wh srafde den g, di fug Hfufe (7 — 22) & sufdmdeng 1 3
Ok
YT THEvE fafy & 44, 96 991 404 H1A.4. (HCF) F1d HITAT | 37a: $7hT .9
(L.CM) 3Ta shifsa | 3
33. W 7 Hi. A\ A1 20 H. TE T AT @iel Il § AN @ied § el g5 g o1 a0H
Y et oht 22 T x 14 . I Ush TG ST & | 39 g0l shl HaTs A hitoe | 3
34. 3 O 911 ga W S fog T § 31 ¥ w@d TP o TQ @i 78 & | fag i e
/PTQ=2 20OPQ% | 3

430033, 12
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In Fig. 3, arrangement of desks in a classroom is shown. Ashima, Bharti
and Asha are seated at A, B and C respectively. Answer the following :

(1) Find whether the girls are sitting in a line.

(1)) IfA, B and C are collinear, find the ratio in which point B divides the
line segment joining A and C.

10
9
8
7 =
o 6 A
) | ,
1 AL ?
1 23 4 5 6 7 8 9 10
Columns
Fig.-3
cos 0 sin 0 )
Prove that (1 — tan 0) + d—cot ) - (cos O + sin 0)
OR

Prove that (sin 8 + cosec 0)2 + (cos 6 + sec )2 = 7 + tan26 + cot?6.

If42is given as an irrational number, then prove that (7 — 2\/5) is an
irrational number.

OR

Find HCF of 44, 96 and 404 by prime factorization method. Hence find
their LCM.

A 20 m deep well with diameter 7 m is dug and the earth from digging is
evenly spread out to form a platform 22 m x 14 m. Find the height of the
platform.

Two tangents TP and TQ are drawn to a circle with centre O from an
external point T. Prove that ZPTQ =2 Z0PQ.

430033, 13 P.T.O.
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T3 HEAT 35 H 40 T Tk Y o 4 376 & |

35. THg ST foh T THRIIT S H U1 T ol 2AY QI Y1371 o 11 oh AN h SRR alAIa | 4

FHa
g 1T fop Toreht amr foig &1 g o W= 718 T W@t i demsal seR 8l 3 | 4
36. 7. 3= Yo o RN ¥ U ol 2l & G 1 3194 101 60° 3 3T 36 T1E 1
FHATEA B 45° 8 | ST bl =TS Fa i | Fem @ fp 3 = 1.732 ®) 4
37. Uh WA A1 b TYH 6 UGH I AT 42 B | 38 10 g a1 30 & TG H U 1 : 3 1
2 | 39 I A T TH Ue aYT 1391 U F1d Shif | 4
FHa
100 3R 300 = s 1 Tt forom HEa131i &1 TITHe 19 shIfT | 4

38. UH TAThR The! o SoITeh Toreeh! Yoll 21 W.HY, 2, o Teh Hoth ol 37eT i TR H HIEHL
T 1Y TR TSN 58 TehR ST 771 ¢ Toh 374 TTTeT 31 SATH B o [oh-T o SIS & |
3 S 31 T 3TFA F1d hiIg | 4

FHYA

12 9.1, =@ ag1 15 9.1, ST8 9Tl Th 91g o 319 oot i foaeiient Teh AT 1T
FATYG I = o vigp 99 12 RaeiHi § gren 73 | 140ier shi s e fgei 6

ol HEITE T ST STeifeh feam & fop wigp o1 s smehl B R R 2 | 4
39. <1 TRl o 1 BT A 180 & | BT TE&AT 1 Ff oS! &A1 1 8 AT & | gHi HE&ATT

1 I | 4
40. 9= SHEERAT S 1 HIET T4 I ;

=i 5-15 | 15-25 | 25-35 | 35-45 | 45-55 | 55-65

FRERAT 6 11 21 23 14 5 4
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Section - D
Question Nos. 35 to 40 carry 4 marks each.

35. In aright triangle, prove that the square of the hypotenuse is equal to sum

of squares of the other two sides. 4
OR

Prove that the tangents drawn from an external point to a circle are equal

in length. 4

36. From the top of a 7 m high building, the angle of elevation of the top of a
cable tower is 60°, and the angle of depression of its foot is 45°. Find the

height of the tower. Given that ‘\]5 =1.732. 4
37. The sum of first 6 terms of an A.P. is 42. The ratio of its 10t term to 30tk
term is 1:3. Find the first and the 13t term of the A.P. 4
OR
Find the sum of all odd numbers between 100 and 300. 4

38. A hemispherical depression is cut out from one face of a cubical wooden
block of edge 21 em, such that the diameter of the hemisphere is equal to
edge of the cube. Determine the volume of the remaining block. 4

OR

A solid metallic cylinder of diameter 12 em and height 15 em is melted and
recast into 12 toys in the shape of a right circular cone mounted on a
hemisphere of same radius. Find the radius of the hemisphere and total
height of the toy, if the height of the cone is 3 times the radius. 4

39. The difference of the squares of two numbers is 180. The square of the
smaller number is 8 times the larger number. Find the two numbers. 4

40. Find the mean of the following frequency distribution :

Class 5-15 | 15-25 | 25-35 | 35-45 | 45-55 | 55-65

Frequency | 6 11 21 23 14 5 4
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